ANITH 6 H 22 HIEH 55 338 1%k 2 M 1 KEABRE B

M 1.

R 2.

il 3.
il 4.

R 5.

[HIE 10.

[ 11.

[ 14.

[l 15.

(a + 2b)(a® — ab + 2b%) = a® — a®b + 2ab® + 2a°b — 2ab® + 4b3 = a® + a®b + 4b3

3a® + 2ab — b* = (3a — b)(a + b)
-4 < —a+50 —2+5<30+6. ~3c<9nD —1<dx. - x<3D _% <
y =222 % o WA 1, y IS 3 2 AT E L 2R iR y = 2(x — 1)% +

Ta=—4,b=5.

UEEM YD) BC?2 = a2 = b2 4 ¢ — 2bccos A =AC?4+AB? — 2AC-ABcos A = 52 +42 — 2

X - 7T BC=V17.

CQ "RA ' PB CcQ 6 2

AL b 0% G HEs = 6:5-4-3:2-1 _ 500q).

3'2‘1' 3:2-1-2-1-1

2-3i _ (2-3)(1-2i))  2-4i-3i+6> _2-Ti+6-(=1)  —4-7

14+2¢  (1+2i)(1—21) 1 — 442 1—4-(-1) 5

P@) = (4 D)@ —dz—1) = 0,2 — —1, 2EVI6+E V216+4 cr=—1,2+/5

<z

_ 4T
a= 5,b .

'.—%§x<3.

+3=222—4x+5 ko

3
542 =17
545 =17

CxzowaoEmyry BC QR AP e BC 15y e BC:CQ=12:5. ~BQ:QC=T: 5.

7
5

CP(x)=a%—32% —5r—1 B E P(—1) = 0 oS EERE Y Plr) 3o+ 1 THY NS,

J = 31 30—y = 0. L SOHEEo AR, oM d — 52— Dl 13 13VI0

V3 (=12 V10

1

2
sin?0=1—cos26=1-— (—) :%. 0 DEARBOMEDS sinh < 0. XoT sin@:—@.

4

sin20:281n9c050:2-%~ (— \2?5) = — \/SE)

- 2 _(1 _2: —1V-2 _ 42 _
CMHOEHLD @ ( (4172 = 42 = 16.

4

La-b=2-14+4-(=3)+1-5=—5.

@ Gy = 2. (_3>n—1
C2{1—(=3)%  2(1+243)
@ 85 = 3 - 1 =122
® /(5x2 +4x — 3)dx = %xs +22% — 3z 4+ C C 3R ER).
1 1
@/(5x2+4x—3)dx: S 23+ 227 — 3z :§+273:2.
0 o 3 3

4



